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QUESTION 1

Refer to the exhibit. 

An Ethernet access provider is configuring routers PE-1 and PE-2 to provide E-Access EVPL service between UNI and
ENNI. ENNI service multiplexing is based on 802.1ad tag 150, and service-multiplexed UNI is based on 802.1q tag 10.
Which EFP configurations must the provider implement on PE-1 and PE-2 to establish end-to-end connectivity between
CE-1 and CE-2? 

A. On PE-1: 

interface GigabitEthernet2

service instance 100 ethernet 

encapsulation dot1ad 150

rewrite ingress tag pop 1 symmetric 

On PE-2: 

interface GigabitEthernet2

service instance 2 ethernet 

encapsulation dot1q 10 
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B. On PE-1: 

interface GigabitEthernet2

service instance 100 ethernet 

encapsulation dot1q 150

rewrite ingress tag pop 1 symmetric 

On PE-2: 

interface GigabitEthernet2

service instance 2 ethernet 

encapsulation dot1q 10 

C. On PE-1: 

interface GigabitEthernet2service instance 100 ethernet encapsulation dot1ad 150 dot1q 10rewrite ingress tag pop 2
symmetric 

On PE-2: 

interface GigabitEthernet2

service instance 2 ethernet 

encapsulation dot1q 10 

D. On PE-1: 

interface GigabitEthernet2service instance 100 ethernet encapsulation dot1ad 150rewrite ingress tag pop 1 symmetric 

On PE-2: 

interface GigabitEthernet2service instance 2 ethernet encapsulation dot1q 10rewrite ingress tag pop 1 symmetric 

Correct Answer: C 

 

 

QUESTION 2

Which condition must be met for TI-LFA to protect LDP traffic? 

A. For single-segment protection, the PQ node must be LDP and SR-capable. 

B. The protected destination must have an associated LDP label and prefix-SID. 

C. The point of local repair must be LDP-capable. 

D. For double-segment protection, the P and Q nodes must be SR-capable. 
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Correct Answer: D  

 

QUESTION 3

Refer to the exhibit. Which option describes the role of the 10.100.1.3 router? 

A. ingress router for the point-to-multipoint mLDP tree 

B. root router for a multipoint-to-multipoint mLDP tree 

C. initiates the upstream mLDP trees 

D. holds the mLDP database 

Correct Answer: B 

 

QUESTION 4

An engineer working for a private service provider with employee Id: 1234:56:789 is configuring a Cisco device to
redistribute OSPF into BGP. Which task enables the device to filter routes? 

A. Configure an access list and reference it with the redistribute command. 

B. Configure a route map and reference it with the redistribute command. 

C. Configure a prefix list and associate it to the BGP peer interface. 

D. Configure a distribute list and associate it to the BGP peer interface. 

Correct Answer: B 
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QUESTION 5

Which two IS-IS parameters must match before two Level 2 peers can form an adjacency? (Choose two.) 

A. hello timer setting 

B. authentication settings 

C. area ID 

D. system ID 

E. MTU 

Correct Answer: BE 

Reference: https://www.cisco.com/c/en/us/support/docs/ip/integrated-intermediate-system-to-intermediate-system-is-
is/200293-IS-IS-Adjacency-and-Area-Types.html 
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